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MEASUREMENT

Question 1:
Tick the longer.

Answer:

Question 2:
Tick the shorter.
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Answer:

LONGEST SHORTEST
Question 3:
Tick the longest.
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Question 4:
Tick the shortest.
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TALLER-SHORTER
Question 5:
Tick the taller.
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Question 6:
Tick the shorter.

TALLEST-SHORTEST
Question 7:
Tick the tallest.
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Question 8:
Tick the shortest.
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THICKER-THINNER
Question 9:
Tick the thicker.

Answer:
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Question 10:
Tick the thinner.
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THICKEST-THINNEST Question
11:
Tick the thickest.
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Question 12:

Answer:
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HEAVIER-LIGHTER
Question 13:
Tick the lighter.
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Question 14:
Tick the heavier.

HEAVIEST-LIGHTEST
Question 15:
Tick the heaviest.
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Answer:

Question 16:
Tick the lightest.
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Question 17:
Tick the heavier.
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Answer:
MEASUREMENT
Question 18:
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The book is spans long. The table is spans long.
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The book is| 3 |spans long. The table is 7 spans long.

Question 19:
Trace your friend’s hand span here.
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Do it yourself.
MEASURE

Question 20:
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My table is span long.
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y pencil is| span long.
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My table is| § |span long.

Question 21:

My pencil is| 2 span long.

My classroom blackboard is

. |

pencils long.
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My classroom blackboard is 3 pencils long.

Question 22:
Guess the distance between the two trees.

Answer:
Distance between the two trees = 12 feet



